[bookmark: _Ref494746248][bookmark: _GoBack]3GPP TSG-RAN WG1 #113	R1-2304592
Incheon, Korea, May 22nd – May 26th, 2023

Title 	:  [Draft] Reply LS on RRC configuration of Tx state in Rel-18 UL Tx switching
Source 	:  ZTE
Agenda item	:  5
[bookmark: DocumentFor]Document for	:  Discussion/Decision
[bookmark: _Ref4817]Introduction
In the RAN2 LS [1], RAN2 asked RAN1 to confirm RAN2’s understanding on the following RAN2 agreements.
	RAN2 achieved the following agreements.
	RAN2#121
For RRC configuration to clarify ambiguous Tx state, RAN2 should introduce an RRC configuration that associates a band to another band which the unused Tx chain is switched to when the switch is from concurrent transmission on two bands to 1 Tx transmission on another band.
RAN2#121bis-e
P2: RAN2 reuse uplinkTxSwitching-DualUL-TxState-r17 to indicate the state of Tx chains for dualUL mode.



Furthermore, RAN2 discussed expected behaviours when a UE is indicated to switch from two bands to one different band (e.g. A+B => C) and agreed the following understanding as a baseline in RAN2#121bis-e.
	P3-2: Baseline R2 “understanding” 
When the UE is indicated to switch from two bands to one different band (e.g. A+B => C), follow below logic when determine the switched Tx:
- If network indicates 1port transmission on band C,
and uplinkTxSwitching-DualUL-TxState is set to oneT, and the associated band is configured to band C:
---- Switch 1Tx chain to band C and switch another Tx chain to associated band;
- Else if network indicates 1port transmission on band C, but uplinkTxSwitching-DualUL-TxState is not configured or is set to twoT, or associated band is not configured to band C:
---- Switching 2Tx chains to band C.



RAN2 would like to ask RAN1 to take the above understanding into account and inform RAN2 if any issue.



Discussion
[bookmark: OLE_LINK15]The key issue is the following. 
· If network indicates 1port transmission on band C, and uplinkTxSwitching-DualUL-TxState is set to oneT, and the associated band is configured to band C, then there is no ambiguity that UE switches 1Tx chain to band C and switch another Tx chain to associated band.
· If network indicates 1port transmission on band C, but uplinkTxSwitching-DualUL-TxState is set to twoT, then there is no ambiguity that UE switches 2Tx chains to band C.
· If network indicates 1port transmission on band C, but associated band is not configured to band C, based on the following RAN1 agreements, there is no ambiguity that UE switches 2Tx chains to band C.
	Agreement
In Case#2 where two Tx chains are currently associated with band A and B, and next transmission is 1 port transmission on band C, if oneT is indicated via uplinkTxSwitching-DualUL-TxState, one Tx chain is switched to band C and associated band for another Tx chain is determined by new RRC parameter which is down-selected from following alternatives.
· An associated band is configured for each band so that another Tx chain is associated with the configured band (as associated band for the transmitting band)
· E.g., associated band for each transmitting band is configured as {B for A}, {A for B}, {A for C} and {C for D}. 
· When 1 port transmission on band C is scheduled and Tx chains are currently associated with band A and B, Tx chain associated with band B is switched to band C while another Tx chain associated with band A remains unchanged (because band A is associated band for band C)
· When 1 port transmission on band D is scheduled and Tx chains are currently associated with band A and B, Tx chain associated with band A (or B) is switched to band D while another Tx chain associated with band B (or A) is switched to band C (because band C is associated band for band D)
If there is one band where concurrent transmission with any other band is not supported, NW does not configure an associated band for the band. In such case, even if oneT is configured, UE performs switching as twoT is configured when 1 port transmission on the band is scheduled



· If network indicates 1port transmission on band C, but uplinkTxSwitching-DualUL-TxState is not configured, from RAN1 perspective, it is ok to assume the default UE behaviour is that UE switches 2Tx chains to band C.
Thus, overall, RAN1 shares the same understandings as RAN2 on the above RAN2 agreements.


Draft Reply LS
In this section, we provide draft reply LS.
Proposal 1: RAN1 replies RAN2’s LS R1-2304327 as following.
	RAN1 would like to thank RAN2 for the LS R1-2304327/R2-2304472. RAN1 shares the same understanding on the RAN2 agreements mentioned in the RAN2 LS.



Conclusion
In this contribution, we provide our analysis and draft reply for the RAN2 LS [1] with the following proposals.
Proposal 1: RAN1 replies RAN2’s LS R1-2304327 as following.
	RAN1 would like to thank RAN2 for the LS R1-2304327/R2-2304472. RAN1 shares the same understanding on the RAN2 agreements mentioned in the RAN2 LS.
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